Here is the example of a three calcs Network with a chat program :

TI 89 is connect to a 92, TI92 to a 92+ and TI92+ to a 89 (connect= send pin with receive pin)


The TI89 send A

TI92 Receive first the number one (because TI89 is the fisrt) and after A. Does TI92 is the one who sent A ? TI92number=1 ? no, so TI92 send A to the third calc : TI92+


TI92+ Receive first the number one and after A. Does TI92+ is the one who sent A ? TI92+number=1 ? no, so TI92+ send A to the next calc : TI89

TI89 Receive first the number one and after A. Does TI89 is the one who sent A ? TI89number=1 ? yes, so TI89 DOESN’T send A to the next calc, it look the keyboard for a key , look if there is a byte in the buffer, look keyboard, buffer….

One time the calc send the message, it scan the keyboard for a key, look the buffer and this until something happen.
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